Virginia High School League District Competition, 2000-01 season

Match #6


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 toss-ups

1.
THIS IS A COMPUTATION QUESTION. A salesman exceeds his fall quota by 20% and his spring quota by 30%. If the quota for fall was $2 million, and the quota for the spring was also $2 million, how much in total sales did he make?

ANSWER: $5 MILLION
2.
Who is the 20th century composer that is the author of Einstein on the Beach?

ANSWER: Phillip GLASS
3.
He became a special assistant to the attorney general in 1919. In 1921, he was named assistant director of the agency with which he is synonymous, and in 1924, he was named director of this agency, a position he held until his death. He is most famous for his campaigns against the Mafia and against supposed Communist sympathizers. Who is this man, the long-time head of the FBI?

ANSWER: J. Edgar HOOVER
4.
What is the name for the two satellite galaxies of the Milky Way that were named for its discoverer, who first noticed them on his voyage around the world in 1519?

ANSWER: MAGELLANIC CLOUDS
First period (continued)

5.
The Vita Nuova, probably his earliest work, tells of his boyhood devotion to Beatrice, despite the fact that they were both married to other people. Who is this Italian Renaissance writer best known for The Divine Comedy, whose first part is the Inferno?

ANSWER: DANTE Alighieri

6.
What Sunday-morning NBC discussion show is the longest-running series on network television?

ANSWER: MEET THE PRESS
7.
He managed to defeat Roman armies at Ticinus, Trebia, Trasimene (trah-see-MEH-neh) and Cannae (kay-NIGH), in the Second Punic War, but failed to capture Rome. In 204 he was recalled from Italy to face Scipio (SKIH-pee-oh), but was defeated at Zama, ending the war. Who is this famous Carthaginian general?

ANSWER: HANNIBAL
8.
Pitchblende is the most common ore of what radioactive element?

ANSWER: URANIUM
9.
In The Adventures of Tom Sawyer, who did Tom get stuck in the cave toward the end of the story?

ANSWER: BECKY THATCHER
10.
THIS IS A COMPUTATION QUESTION. A band has 5 of its 20 percussionists, 14 of its 60 instrumentalists and 2 of its 12 colorguard miss a competition. How many band members actually attended the competition? 

ANSWER: 71
11.
It rises to 8,363 feet in the Cascade Range of southwest Washington State. However, it became known outside of Washington State on May 18, 1980, after it caused $2.5 billion damage and killed 100 people. What is this volcano?

ANSWER: MOUNT ST. HELENS
First period (continued)

12.
What is the name for a device that converts chemical energy into electrical energy and frequently used in cars, flashlights and toys?

ANSWER: BATTERY
13.
Renal is an adjective that describes what body organ?

ANSWER: KIDNEYs

14.
What is the term in set theory to describe the collection of all elements in either Set A or Set B?

ANWER: UNION
15.
What is the musical term, abbreviated cresc (spell out the word) that tells the musician to play her or his music more loudly?

ANSWER: CRESCENDO
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
Sandro Botticelli is most famous for his painting of the birth of what goddess?

ANSWER: VENUS (don’t accept Aphrodite, due to the title of the painting being “The Birth of Venus”)

1B.
A horse race that is 12 furlongs is how many miles, expressed as a mixed number?

ANSWER: ONE AND A HALF
2A.
THIS IS A COMPUTATION QUESTION. What is the measure of the bisector of an angle whose supplement is 56 degrees?

ANSWER: 62 degrees

2B.
Rememberance Day is the British equivalent of what holiday, which is observed in Britain by a two-minute silence at 11 am on November 11?

ANSWER: VETERAN’S DAY
3A.
Sark, Alderney, Jersey and Guernsey are the largest of what island group named for their location in the straits between England and France?

ANSWER: CHANNEL islands

3B.
What is the more commonly used name of trinitrotoluene?

ANSWER: TNT
4A.
What is the name of the single super-continent that broke up about 200 million years ago, eventually becoming the modern continents?

ANSWER: PANGAEA (pan-JEE-uh)

Second period (continued)

4B.
What Tennessee Williams play concerns the lives of Tom, Amanda and Laura Wingfield?

ANSWER: THE GLASS MENAGERIE
5A.
What is the name given to the psychological and physiological study of aging?

ANSWER: GERONTOLOGY
5B.
On February 6, Ehud Barak will be challenged by what veteran of the Israeli military that is currently chairman of the Likud party?

ANSWER: Ariel SHARON
6A.
Which of the Biblical prophets envisioned the valley of the dry bones?

ANSWER: EZEKIEL
6B.
What unit, the smallest image-forming unit of a video display, is used to measure pictures and graphics on a computer?

ANSWER: PIXEL
7A.
THIS IS A COMPUTATION QUESTION. What is the square of the complex number 3 plus 2i?

ANSWER: 5 PLUS 12i
7B.
What Spanish explorer is credited with discovering Florida in 1513?

ANSWER: Juan PONCE DE LEON
8A.
Two answers required. What are either of the two small African nations where the Hutus and Tutsis have been fighting for decades?

ANSWER: RWANDA and BURUNDI
8B.
What is the name given to the lowest layer of the atmosphere?

ANSWER: TROPOSPHERE
Second period (continued)

9A.
What term is used to describe a chemical reaction which absorbs heat?

ANSWER: ENDOTHERMIC or ENDOERGIC
9B.
What 13-letter word is used to describe a method of shared problem-solving where all members of a group spontaneously contribute ideas?

ANSWER: BRAINSTORMING
10A.
With which Knight of the Round Table did Guinevere commit adultery?

ANSWER: LANCELOT
10B.
What Russian composer wrote Peter And The Wolf?

ANSWER: Sergei PROKOFIEV

Third period: 15 toss-ups
1.
What username is given to userid 0, the most powerful user on a UNIX system?

ANSWER: ROOT
2.
This Owen Wister title character lived in Wyoming but was named for the state from which he hailed. This title character also spawned a 10-year television series starring James Drury in the title role. Who is this character 

ANSWER: THE VIRGINIAN
3.
What is the name given to the collective or impersonal voice in a drama, which serves to introduce and comment on the action, a common feature of Greek tragedy, but more commonly thought of today as the collection of backup voices in a musical?

ANSWER: CHORUS

4.
He eventually died in 1812 at the battle of the Thames while commanding Indian allies of the British. In previous years this Shawnee chieftain joined his brother, “The Prophet”, in attempting to create a pan-Indian confederacy. Who is this Indian leader whose efforts were squashed at Tippecanoe in 1811?

ANSWER: TECUMSEH
5.
The movement of air along the pressure gradient from areas of high to lower pressure is what basic element of weather, measured by an anemometer (a-neh-MAW-meh-ter)?

ANSWER: WIND
6.
This resident of Tillbury Town was a gentleman from sole to crown, was richer than a king and was admirably schooled in every grace. Who is this Edwin Arlington Robinson character that “one calm summer night went home and put a bullet through his head?”

ANSWER: RICHARD CORY
Third period (continued)

7.
Elmer Fudd’s song, “Kill the Wabbit”, was a parody of Wagner’s “Ride” of what mythological women who took the souls of brave, fallen warriors in Norse mythology?

ANSWER: VALKYRIES

8.
He was the prosecuting attorney in the Scopes Monkey trial. He resigned as Secretary of State when the US entered World War I. Who is this man best known, however, for losing three Presidential elections and giving the “Cross of Gold” speech at the 1896 Democratic convention?

ANSWER: William Jennings BRYAN
9.
What is the name given to one of two chemical substances that have the same elementary percentage composition and molecular weight, but which are different in structure, therefore being one of two compounds with the same chemical formula, but different properties?

ANSWER: ISOMERS
10.
THIS IS A COMPUTATION QUESTION. The Nasdaq begins the day at 3500 and suffers a 4% loss. What will the NASDAQ close the day at?

ANSWER: 3360
11.
The Cup was donated by an English businessman who suggested the idea of a regular international golf competition between the US and Great Britain. The British team became a European team in 1979, creating the modern foundation of what biennial golf tournament that returned to the USA in 1999?

ANSWER: RYDER CUP
12.
What is the name given to the type of schizophrenia where the patient becomes inert, frequently not moving for hours at a time?

ANSWER: CATATONIA or CATATONIC
13.
What is the general term given to all disorders related to fluency with spoken language, where individual sounds may be abnormally repeated, lengthened or fail to be released, causing the speaker to have difficulty speaking clearly?

ANSWER: STUTTERING

Third period (continued)

14.
THIS IS A COMPUTATION QUESTION. Superbowl advertisements will cost $1 million for every 30 seconds. If the game lasts for five hours, and the network can hope to get 15 minutes of advertising an hour, how much will the network make off of ads?

ANSWER: $150 MILLION
15.
Imperative, indicative and subjunctive are the three main examples of what verb attribute, which expresses the intent behind the verb, as opposed to the tense, which expresses the time of the verb?

ANSWER: MOOD
Spares
What phylum of worms is unsegmented, and has members such as hookworms, pinworms and roundworms?

ANSWER: NEMATODES or NEMATODA
THIS IS A COMPUTATION QUESTION. A baseball player completes the season with 210 hits and a batting average of .350. How many at-bats did the player have during the season?

ANSWER: 600 AT-BATS

The Joy Luck Club and The Kitchen God’s Wife are two books by what Chinese-American author?

ANSWER: Amy TAN
What 1854 law provided for popular sovereignty to determine the slavery question in the new states for which this law were named?

ANSWER: KANSAS-NEBRASKA ACT
What French painter spent a short period with Vincent van Gogh, and then spent the last 12 years of his life in Tahiti and elsewhere in the South Pacific?

ANSWER: (Eugene-Henri) Paul GAUGUIN
© 2000 by Shawn Pickrell. All rights reserved.

